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JIE {2 K4 FEHIFI—X ouT IN GROSS
1 RIREF WFFZHRM A E 37 40 77
2T E . WEHEMK L E 39 39 78
2T EIEE - WFEHEH 39 39 78
2T B2 BEF N—EZ—ELR 40 38 78
5 TRES BEHAY-M 38 41 79
6 F)ll HEF FEEARY - 40 40 80
7 22X & EEEVES 40 41 81
8 Mg - 2HAKRY-M 39 43 82
9T FRiEIEF 2o ELE 44 40 84
9T HIE &F BEHAY-M 40 44 84
9T o EF N—E-—EIR 41 43 84
9T =& FH hEEAY - 44 40 84
9T SH BEF LHOH36 42 42 84
9T FH BF NE-—ELR 40 44 84
15T BAREE =N 43 42 85
15T e HER L£HPH36 43 42 85
17T fs =0 A=W F=Fr—F 41 45 86
17T ®BEH 5F £HPH3I6 42 44 86
19T KR BHFIF REBKIEPC 41 46 87
19T Xl EF EN=E 44 43 87
19T ME SHF FEDFE 46 41 87
19T #a BEx FELHIY 43 44 87
19T —% BHE ENCES 44 43 87
19T TH BF £HAEAY-F 44 43 87
25T ¥E E=F &)= 44 44 88
25T INE EF FELHIY 45 43 88
25T hi E N—EZ—EIR 42 46 88
25T AR RF £HOH3I6 45 43 88
25T B FX LHOH36 42 46 88
30T /A BF WFEEEE 47 42 89
30T FH BRKF A=W F=Fr—F 43 46 89
30T N ARES T 44 45 89
30T BBXRE WFHM L E 42 47 89
30T SHERK FEHEINIS 45 44 89
35T =S8 %= N—E=—EIR 46 44 90
35T JIAESE INES 43 47 90
35T 5ta BGF £HP8H36 43 47 90
38 Bk EL K FEHEINIG 45 46 91
39T EH &F N—EZ—EIR 46 46 92
39T BIGEF KFIW7i5 46 46 92
39T == FELH#IY 46 46 92
39T J\K fi¥ N—EZ—ER 48 44 92
43 I =8F mEAY-N 48 45 93
44T Bl EXEF N UYLV 49 45 94
44T E FEF BEHEXY-M 48 46 94
44T T BEF HEBKIEPC 47 47 94
47 fEk HF=x N—EZ—ELR 48 47 95
48 5E BF RN} 48 48 96
49 =ZE HBicF RN} 48 49 97
50 B EF FELHIY 51 49 100
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